
φ = rad( lon)
θ = rad( lat)

ν⃗ = [ xyz ] = [ r cos(θ)cos(φ)r cos(θ )sin (φ)
r sin(θ) ]

B = { v⃗1 ,…, v⃗m }

B = {[ v11…v1n] ,…,[ vm1

…
vmn
]}

b⃗avg = [avg (v11 ,…, vm1)…
avg (v1n ,…, vmn)]

△UVW = {[xuyu] ,[ xvyv ] , [xwyw]}
x p = u xu+v xv+w xw
y p = u yu+v yv+w yw
p⃗ = [ x py p]

u =
( yv－ yw)( xp－ xw)+( xw－ xv)( y p－ yw)
( yv－ yw)( xu－ xw)+( xw－ xv)( yu－ yw)

v =
( yw－ yu )( xp－ xw)+( xu－ xw)( y p－ yw)
( yv－ yw)( xu－ xw)+( xw－ xv)( yu－ yw)

w = 1－ u－ v

V = {ν⃗ 1 ,…,ν⃗ i ,…,ν⃗ m}

= {[ν 11…ν 1 j…ν 1n] ,…, [
ν i1
…ν i j
…ν i n
] ,…, [ν m1…ν mj

…ν mn
]}

ωi = mort(ν⃗ i)
= mort(ν i 1 ,…,ν i j ,…,ν i n)

homeω(V ) = {ω1 ,…,ωi ,…,ωm }

1


